Name: Date:

HW Pre-Calculus 11 Section 5.2 Multiplying Dividing and Rationalizing with Radicals

1. Multiply each of the following radicals:

a) 24 x+/6 b) 312 x5+/8 o) 5%/50 x 33/60

d) —43/-100 x 23/54 e) §abc® x Ia’b*c? ) {‘[32x3y x {‘/64x2 y’

§) 24/3(4v/21+5/15) ) 4V5 (640 +3V50 —290) | i)5v/6 (44/24 —31/48 - 554
) (342 + 43) (53 B) 06 —B)(2+ 5 +4)

L)(33 8x2+3/§)(3/§—638x2) m)(8a—6%)(2@+4%)
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2. Divide and Rationalize each of the following radicals:

a)@ 3J_ 3J_
Ng Yoo Vovaa

1 1 1 2 5 8
VEB NN VE
382 35 o8 )28_36
NN NN NN
)= )= 2
NZENE 23+5 RPN
m) ﬁJM/g n)—sx/§ p) KX
B2 202-33 Jx
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5 R) Y3+433 9 46 - 346
e Nea 16

3. s the following statement true or false? Explain: =3 x/—27 =9

4. The following student rationalized the expression with the steps shown. Indicate any errors that you see:

5-a _ 5_a *(va+4)
Ja-4 ﬁ—4x(\/a+4)

_5Ja-a+20
a-4

5a + 20
—4

5. Find the unknown value “K” in each of the following expressions:

a) K x3y24 = 2\/3x 6410 b) 8*/_:4\7%_8

6. Find the volume of a box given the dimensions: Height: 3\/5 + 4, Width: 4x/§ - Zx/§, Length: 4«/5 + 2\/§
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7. Each right triangle in the figure shown has a hypotenuse 4cm and the shortest side 2 cm. Find the perimeter
of the figure:

dem

I_

2em V

8. Challenge: Find the sum of the expression without a calculator:

1 1 1 1 1 1

34242 242+7 N7+6 Y6445 B+2 243

Copyright All Rights Reserved at Homework Depot www.BCMath.ca



http://www.bcmath.ca/

